## **Basis for Jamie Ross Testimony**

## **Kodiak Seine Fishery Average Gross Nominal Earnings with Historic Ranking**

Igvak Fishery	Year	Ave. Gross	Historic Ranking
Closed/Low Harvest			
Closed	2019	\$ 227,522.00	#6
Closed	2018	\$ 147,054.00	
	2017	\$ 340,450.00	#1
	2016	\$ 95,915.00	
Minimal @ 5,936	2015	\$ 173,210.00	#9
Closed	2014	\$ 190,573.00	#8 (tie)
	2013	\$ 333,048.00	#2
	2012	\$ 244,927.00	#5
	2011	\$ 250,596.00	#4
	2010	\$ 129,137.00	
	2009	\$ 190,795.00	#8 (tie)
Closed	2008	\$ 166,749.00	#10
	2007	\$ 173,984.00	#9
	2006	\$ 191,505.00	#7
Minimal @ 11,218	1988	\$ 225,000.00	#3

<sup>\*</sup>sourced from CFEC quartile tables submitted by Jamie Ross

## \* ZO19 - NOT DONE YET, Sourse: CFEC Quartile Tables BYTA, M.R. = \$227,522 AVE

S 01K SALMON, PURSE SEINE, KODIAK									
Year: 2018									
	Perr	nits	Estimate	d Gross Ear	nings				
Quartile	Number	Percent	Total	Percent	Average				
1	13	8.61	\$5,528,672	24.8	\$425,282	actual			
(high)	13	8.61	\$5,528,672	24.8		cumulative			
2	22	14.57	\$5,653,315	25.36					
	35	23.18	\$11,181,987	50.15	And the second s	cumulative			
3	34	22.52	\$5,526,889	24.79					
	69	45.7	\$16,708,875	74.94	The same of the sa	cumulative			
4	82	54.3	\$5,586,910	25.06	\$68,133				
(low)	151	100	\$22,295,785	100		cumulative			

Total pounds represented in this table: 34,151,564

Unpriced pounds represented: 11,634

(A)	1
(1)	VE)
£.	

S 01K SALMON, PURSE SEINE, KODIAK									
Year: 2017									
	Pern	nits	Estimate	d Gross Ear	nings				
Quartile	Number	Percent	Total	Percent	Average				
1	15	9.2	\$14,134,367	25.47	\$942,291				
(high)	15	9.2	\$14,134,367	25.47		cumulative			
2	23	14.11	\$13,556,695	24.43					
	38	23.31	\$27,691,062	49.9	\$728,712	cumulative			
3	39	23.93	\$13,942,425	25.12	\$357,498	actual			
	77	47.24	\$41,633,487	75.02	\$540,695	cumulative			
4	86	52.76	\$13,859,921	24.98	\$161,162				
(low)	low) 163 100 \$55,493,408 100 \$340,450								
Total pound	Total pounds represented in this table: 109,756,501								

S 01K SALMON, PURSE SEINE, KODIAK									
Year: 2016									
	Perr	nits	Estimate	ed Gross Ear	nings				
Quartile	Number	Percent	Total	Percent	Average				
1	11	6.67	\$3,940,606	24.9	\$358,237	actual			
(high)	11	6.67	\$3,940,606	24.9	\$358,237	cumulative			
2	22	13.33	\$3,902,345	24.66	\$177,379	actual			
	33	20	\$7,842,950	49.56	\$237,665	cumulative			
3	35	21.21	\$3,987,817	25.2	\$113,938				
	68	41.21	\$11,830,767	74.76	\$173,982	cumulative			
4	97	58.79	\$3,995,205	25.24	\$41,188	actual			
(low)	165	100	\$15,825,972	100		cumulative			
Total pound	ds represent	ted in this t	able: 19,996,	,824					

S 01K SALMON, PURSE SEINE, KODIAK									
Year: 2015									
	Perr	nits	Estimate	d Gross Ear	nings				
Quartile	Number	Percent	Total	Percent	Average				
1	16	8.89	\$7,939,212	25.46	\$496,201	actual			
(high)	16	8.89	\$7,939,212	25.46	\$496,201	cumulative			
2	25	13.89	\$7,634,625	24.49	\$305,385	actual			
	41	22.78	\$15,573,837	49.95	\$379,850	cumulative			
3	42	23.33	\$7,822,915	25.09	\$186,260	actual			
J	83	46.11	\$23,396,752	75.04	\$281,889	cumulative			
4	97	53.89	\$7,781,125	24.96	\$80,218	actual			
(low)	180	100	\$31,177,877	100	\$173,210	cumulative			
Total poun	ds represent	ted in this t	able: 112,67	8,588	(A 10)				

, ,

S 01K SALMON, PURSE SEINE, KODIAK											
Year: 2014											
	Pern	nits	Estimate	d Gross Ear	nings						
Quartile	Number	Percent	Total	Percent	Average						
1	16	8.7	\$8,732,906	24.9	\$545,807	actual					
(high)	16	8.7	\$8,732,906	24.9	\$545,807	cumulative					
2	27	14.67	\$8,873,645	25.31	\$328,654	actual					
-	43	23.37	\$17,606,551	50.21	\$409,455	cumulative					
3	39	21.2	\$8,661,421	24.7	\$222,088	actual					
	82	44.57	\$26,267,972	74.91	\$320,341	cumulative					
4	102	55.43	\$8,797,547	25.09	\$86,250	actual					
(low)	184	100	\$35,065,519	100	\$190,573	cumulative					
Total poun	ds represent	ed in this t	able: 50,729,	053	100	\					
	_		(Me)								

S 01K SALMON, PURSE SEINE, KODIAK									
Year: 2013									
	Perr	nits	Estimate	d Gross Ear	nings				
Quartile	Number	Percent	Total	Percent	Average				
1	19	11.38	\$14,169,472	25.48	\$745,762	actual			
(high)	19	11.38	\$14,169,472	25.48	\$745,762	cumulative			
2	27	16.17	\$13,578,601	24.41	\$502,911	actual			
	46	27.54	\$27,748,073	49.89	\$603,219	cumulative			
3	41	24.55	\$14,073,141	25.3	\$343,247	actual			
J	87	52.1	\$41,821,213	75.19	\$480,704	cumulative			
4	80	47.9	\$13,797,848	24.81	\$172,473	actual			
(low)	167	100	\$55,619,062	100	\$333,048	cumulative			
Total pound	ds represen	ted in this t	able: 98,321	.205	16				

HISTORK

Table 13. Estimated Total Gross Earnings (Real and Nominal) for the Kodiak Salmon Purse Seine Fishery, With Average Earnings (Real) by Permit and Vessel, 1975-2018

	Permits	Total Gro	oss Earnings	Permits With	Average Real	Vessels With	Average Real	- 150
Year	Issued	Nominal	Real	Landings	Earnings	Landings	Vessel Earnings	INHAIN
1975	413	\$4,296,415	\$20,053,156	288	\$69,629	288	\$69,629	
1976	388	\$16,537,260	\$72,981,052	344	\$212,154	340	\$214,650	
1977	378	\$15,772,355	\$65,355,590	336	\$194,511	345	\$189,436	
1978	387	\$26,294,974	\$101,270,737	372	\$272,233	372	\$272,233	一并6
1979	387	\$18,556,426	\$64,182,487	362	\$177,300	386	\$166,276	0
1980	387	\$23,074,410	\$70,317,303	370	\$190,047	376	\$187,014	
1981	387	\$25,960,104	\$71,713,574	325	\$220,657	345	\$207,865	
1982	386	\$13,561,501	\$35,288,994	345	\$102,287	341	\$103,487	
1983	383	\$10,341,890	\$26,073,504	342	\$76,238	341	\$76,462	
1984	384	\$21,181,904	\$51,192,727	296	\$172,948	299	\$171,213	
1985	384	\$15,601,263	\$36,408,795	270	\$134,847	270	\$134,847	
1986	385	\$26,602,950	\$60,950,610	287	\$212,371	280	\$217,681	
1987	386	\$23,702,188	\$52,392,477	297	\$176,406	294	\$178,206	11.4
1988	387	\$81,526,188	\$173,049,843	323	\$535,758	321	\$539,096	<b>- #1</b>
1989	388	\$56,422	\$114,258	. 4	\$28,564	4	\$28,564	
1990	388	\$40,117,467	\$77,075,568	354	\$217,728	354	\$217,728	-#10
1991	388	\$26,973,828	\$49,730,667	348	\$142,904	350	\$142,088	11.70
1992	387	\$32,960,017	\$58,991,383	335	\$176,094	333	\$177,151	
1993	387	\$30,756,924	\$53,448,297	324	\$164,964	327	\$163,450	
1994	387	\$19,250,419	\$32,617,509	285	\$114,447	287	\$113,650	47
1995	386	\$42,359,845	\$69,795,627	312	\$223,704	311	\$224,423	711
1996	384	\$18,551,849	\$29,690,880	261	\$113,758	260	\$114,196	
1997	384	\$14,339,237	\$22,434,161	261	\$85,955	263	\$85,301	
1998	384	\$25,898,030	\$39,896,789	217	\$183,856	215	\$185,566	
1999	383	\$23,971,102	\$36,130,321	220	\$164,229	216	\$167,270	
2000	383	\$16,714,285	\$24,373,252	223	\$109,297	219	\$111,293	
2001	383	\$17,058,329	\$24,186,708	182	\$132,894	180	\$134,371	
2002	382	\$10,710,425	\$14,949,765	149	\$100,334	147	\$101,699	
2003	377	\$13,267,251	\$18,105,976	143	\$126,615	138	\$131,203	
2004	375	\$16,283,559	\$21,645,927	140	\$154,614	137	\$157,999	47
	374	\$19,242,761	\$24,741,382	135	\$183,269	131	\$188,866	-H1
2006	375	\$24,895,666	\$31,009,305	130	\$238,533	128	\$242,260	1/1 //
2007	377	\$24,357,780	\$29,499,132	140	\$210,708	136	\$216,905	110
8009	374	\$21,343,868	\$24,893,266	128	\$194,479	125	\$199,146	_#8
2009	374	\$29,954,846	\$35,060,952	157	\$223,318	152	\$230,664	
010	375	\$19,887,085	\$22,901,394	154	\$148,710	145.	\$157,941	
011	376	\$43,603,641	\$48,676,217	174	\$279,748	168	\$289,739	-45
013	376	\$40,657,909	\$44,467,562	166	\$267,877	156	\$285,048	TILD
013	376	\$55,619,062	\$59,952,419	167	\$358,997	164	\$365,564	7#5
015	373	\$35,065,519	\$37,194,162	184	\$202,142	178	\$208,956	
	372	\$31,177,877	\$33,031,315	180	\$183,507	171	\$193,166	
016	374	\$15,825,972	\$16,557,902	165	\$100,351	157	\$105,464	- #2
	375	\$55,493,408	\$56,848,822	163	\$348,766	154	\$369,148 -	- HC
018	375	\$22,304,497	\$22,304,497	151	\$147,712	147	\$151,731	

Adjusted for inflation to 2018 dollars using U.S. Bureau of Labor Statistics Consumer Price Index.

\* AVERAGE "REAL" VESSEL EARNINGS ARE ADJUSTED TO 2018 DOLLARS

Counts will differ from CFEC on-line Basic Information Tables where the on-line data does not account for the combination of interim-entry permits that were issued as permanent permits in the same year.